Transfers Report

This report contains the transfers results.

Contest Name

Ward 9 Calton

Valid Votes

5,484

Positions to be Filled

Quota

1,097

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert CONNELLY	Scottish Conservative and Unionist	627
Greg HEPBURN	Scottish National Party (SNP)	1,389
Jennifer LAYDEN	Scottish National Party (SNP)	690
John MACPHERSON	Scottish Liberal Democrats	102
Kris MCGURK	No Referendum Maintain Union Pro-Brexit	150
Lorraine MCLAREN	Scottish Green Party	491
Cecilia O'LONE	Glasgow Labour	922
Linda PIKE	Scottish National Party (SNP)	511
Thomas RANNACHAN	Glasgow Labour	602
	Total	5,484

Candidate Greg HEPBURN Elected with 1,389 votes, being in excess of the quota of 1,097

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Greg HEPBURN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	6	0.21022	1.26132
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	886	0.21022	186.25492
Transfer to John MACPHERSON	9	0.21022	1.89198
Transfer to Kris MCGURK	8	0.21022	1.68176
Transfer to Lorraine MCLAREN	54	0.21022	11.35188
Transfer to Cecilia O'LONE	35	0.21022	7.35770
Transfer to Linda PIKE	307	0.21022	64.53754
Transfer to Thomas RANNACHAN	14	0.21022	2.94308
Value of non-transferable ballot papers			14.71982
	Total		292.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of John MACPHERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	3	0.21022	0.63066
Transfer to Robert CONNELLY	19	1.00000	19.00000
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	7	1.00000	7.00000
Transfer to Jennifer LAYDEN	2	0.21022	0.42044
Transfer to Kris MCGURK	4	1.00000	4.00000
Transfer to Lorraine MCLAREN	33	1.00000	33.00000
Transfer to Cecilia O'LONE	12	1.00000	12.00000
Transfer to Cecilia O'LONE	2	0.21022	0.42044
Transfer to Linda PIKE	1	0.21022	0.21022
Transfer to Linda PIKE	5	1.00000	5.00000
Transfer to Thomas RANNACHAN	3	1.00000	3.00000
Value of non-transferable ballot papers			19.21022
	Total		103.89198

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Kris MCGURK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	61	1.00000	61.00000
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	6	1.00000	6.00000
Transfer to Jennifer LAYDEN	2	0.21022	0.42044
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Lorraine MCLAREN	13	1.00000	13.00000
Transfer to Cecilia O'LONE	24	1.00000	24.00000
Transfer to Cecilia O'LONE	3	0.21022	0.63066
Transfer to Linda PIKE	2	0.21022	0.42044
Transfer to Linda PIKE	1	1.00000	1.00000
Transfer to Thomas RANNACHAN	19	1.00000	19.00000
Transfer to Thomas RANNACHAN	1	0.21022	0.21022
Value of non-transferable ballot papers			30.00000
	Total		155.68176

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Lorraine MCLAREN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	24	1.00000	24.00000
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	185	1.00000	185.00000
Transfer to Jennifer LAYDEN	26	0.21022	5.46572
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Kris MCGURK	0	0.00000	0.00000
Transfer to Cecilia O'LONE	6	0.21022	1.26132
Transfer to Cecilia O'LONE	81	1.00000	81.00000
Transfer to Linda PIKE	114	1.00000	114.00000
Transfer to Linda PIKE	14	0.21022	2.94308
Transfer to Thomas RANNACHAN	1	0.21022	0.21022
Transfer to Thomas RANNACHAN	36	1.00000	36.00000
Value of non-transferable ballot papers			98.47154
	Total		548.35188

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Thomas RANNACHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	1	0.21022	0.21022
Transfer to Robert CONNELLY	25	1.00000	25.00000
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	20	1.00000	20.00000
Transfer to Jennifer LAYDEN	3	0.21022	0.63066
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Kris MCGURK	0	0.00000	0.00000
Transfer to Lorraine MCLAREN	0	0.00000	0.00000
Transfer to Cecilia O'LONE	5	0.21022	1.05110
Transfer to Cecilia O'LONE	493	1.00000	493.00000
Transfer to Linda PIKE	18	1.00000	18.00000
Transfer to Linda PIKE	2	0.21022	0.42044
Value of non-transferable ballot papers			105.05110
	Total		663.36352

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Cecilia O'LONE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	231	0.28891	66.73821
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	0	0.00000	0.00000
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Kris MCGURK	0	0.00000	0.00000
Transfer to Lorraine MCLAREN	0	0.00000	0.00000
Transfer to Cecilia O'LONE	0	0.00000	0.00000
Transfer to Linda PIKE	176	0.28891	50.84816
Transfer to Linda PIKE	18	0.06073	1.09314
Transfer to Thomas RANNACHAN	0	0.00000	0.00000
Value of non-transferable ballot papers			327.04171
	Total		445.72122

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Jennifer LAYDEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	9	0.00080	0.00720
Transfer to Robert CONNELLY	12	0.00380	0.04560
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	0	0.00000	0.00000
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Kris MCGURK	0	0.00000	0.00000
Transfer to Lorraine MCLAREN	0	0.00000	0.00000
Transfer to Cecilia O'LONE	0	0.00000	0.00000
Transfer to Linda PIKE	718	0.00380	2.72840
Transfer to Linda PIKE	830	0.00080	0.66400
Transfer to Thomas RANNACHAN	0	0.00000	0.00000
Value of non-transferable ballot papers			0.74698
	Total		4.19218

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Linda PIKE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert CONNELLY	136	0.00080	0.10880
Transfer to Robert CONNELLY	154	0.00380	0.58520
Transfer to Robert CONNELLY	7	0.06073	0.42511
Transfer to Robert CONNELLY	55	0.21022	11.56210
Transfer to Robert CONNELLY	57	0.28891	16.46787
Transfer to Robert CONNELLY	112	1.00000	112.00000
Transfer to Greg HEPBURN	0	0.00000	0.00000
Transfer to Jennifer LAYDEN	0	0.00000	0.00000
Transfer to John MACPHERSON	0	0.00000	0.00000
Transfer to Kris MCGURK	0	0.00000	0.00000
Transfer to Lorraine MCLAREN	0	0.00000	0.00000
Transfer to Cecilia O'LONE	0	0.00000	0.00000
Transfer to Thomas RANNACHAN	0	0.00000	0.00000
Value of non-transferable ballot papers			631.71634
	Total		772.86542